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General Instructions :

Read the following instructions very carefully and follow them :

(i) This Question Paper contains 35 questions. All questions are

compulsory.

(it) Question Paper is divided into FIVE sections — Section A, B, C, D

and E.

(iti) In section A — question number 1 to 18 are Multiple Choice (MCQ) type

questions carrying 1 mark each.

(iv) In section B - question number 19 to 25 are Very Short Answer (VSA)

type questions carrying 2 marks each.

(v) In section C - question number 26 to 30 are Short Answer (SA) type

questions carrying 3 marks each.

(vi) In section D - question number 31 & 32 are case-based questions carrying

4 marks each.

(vii) In section E — question number 33 to 35 are Long Answer (LA) questions

carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been provided in

2 questions in Section B, 2 questions in Section C, 2 questions in Section D

and 2 questions in Section E.
(ix) Use of calculator is NOT allowed.

SECTION - A
1.  Which of the following belongs to the class of Vinyl halides ?
(a) CH,=CHCH,CH,CI (b) CH,= (‘3 — CH,
Br
(0 CH,=CH-CH,-Br (d CH=C-Br

2. What is the secondary valency of Cobalt in [Co(en,)Cly]*™ ?

(@ 6 (b) 4
(c) 2 d 8
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TR B hEd @

(a) STSUSIRTOT SATHTRAT (b) e IrffsRan
(c) WA ATk (d) uHfee stffeman

4. A ife 6 Afufer & foru [R] 1 99 & A1 0@ H1 8T &

_tk

@ 39303 (b) -k
_k
© 39303 @ +k
5. TIdH gerh 8
(a) —aelieh ITReAl <l (b) U 37eAl
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(d) Sy2 fufsra 3K Sy 1 SATsRsti gl |
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3.  When Benzene diazonium chloride reacts with phenol, it forms a dye. This

reaction is called
(a) Diazotisation reaction

(¢) Coupling reaction

(b)
(d)

Condensation reaction

Acetylation reaction

4. The slope in the plot of [R] vs. time for a zero order reaction is

+k

@ 397303
_k
© 32303

5.  Proteins are polymers of
(a) Nucleic acids

(¢) Monosaccharides

(b)

(d)

(b)
(d)

6. Retention of configuration is observed in

(a) Syl reaction

(b) S\2 reaction

(c) Neither Sy1 nor Sy2 reaction

(d) Sy2reaction as well as Sy 1 reaction

-k

+k

Amino acids

Amines

7. An azeotropic mixture of two liquids will have a boiling point lower than

either of the two liquids when it

(a) shows a negative deviation from Raoult’s law

(b) forms an ideal solution

(¢) shows a positive deviation from Raoult’s law

(d) 1is saturated

56/2/2
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8. KCl= f=fafaa faeai 9 9 feruehl Hier IetehdT sl A9 3=dH &1 ?

(a) 0.01M ® 1M
(0 05M @ 0.1M

9. Tmfefea a9 %= Hem At Tdiear g 2
(@) (CHy,C— CHO
(0 (CH,), CH- CHO

(c)
(d) HCHO

10. Tr=fafaa sfufpreidasR Hava g ?
() CHLCH,Br+ Na*0-C (CHy),; - CH,CH, — O — C (CH,),
() (CH,), C— Cl+Na* O~ CH,CH, — CH,CH, — O — C (CH,),
© (a) 3 (b) TH
(d) A4l (a) ARAE (b)

11. Ufcegmss 3 hHieH, BEgiieactui ¥ AR stk aaTd! 8

(a) EESAA (b) wRHTETEE
(c) THteIasH d) oFfaaw

12, b 24 - 3B % fore, st am — Ll foeds w2 ¢

3 d[B 2 d[B
o 34 v 34
1 d[B 2d[B
0 3 o 48
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8.  Which of the following solutions of KC/ will have the highest value of

molar conductivity ? 1
(a) 0.01M ® 1M
(¢ 0.5M (d 0.1M

9.  Which of the following does not give Cannizaro reaction ? 1
(a) (CHy43C-CHO (b) (CHy),CH-CHO
(c) (d) HCHO

10. Which of the following reactions are feasible ? 1

() CH,CH,Br + Na* 0-C(CH,), - CH,CH,—O — C (CH,),
() (CH,), C - Cl+ Na* O~ CH,CH , > CH,CH, — O — C(CH,),

(¢) Both (a) and (b)
(d) Neither (a) nor (b)

11. Aldehydes and ketones react with hydroxylamine to form 1
(a) hydrazones (b) cyanohydrins
(c) semicarbazones (d) Oxime

12. For a reaction 2A — 3B, rate of reaction — d dix 1s equal to 1
+3 d[B] +2 d[B]
@ 5 g ®) 3 g
+1 d[B] 2d[B
© 73 g d +7g
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13.

14.

15.

16.

17.

18.

Hepel STEFATNEITSE (T —1, 2-ST5UHIH) wiferm (IV) 188 1 931 & 1

(a) [Pt Cly(en), (NO;),] (b) [Pt Cly(en),] (NOy),

(c) [Pt Cly(en), (NO4)INO, (d) [Pt (en), (NO,),]CI,

3d #oft it frferfaa arqan o & fereeht TetTh =9 8 2 1
(a) Fe (b) Mn

(¢) Zn (d Cu

R (A) 3R FREr (R) & 3ifera = @ sua fer mu 2 | Fefafeq faswedi o @
T ITFF IR T =TI I -

(a) (A) IR (R) gF1 T & 74T (R), (A) 1 € AT R |

(b) (A) 3 (R) G T &, wfeh (R), (A) ! Tt AT 761 2 |

© (A)FER, Al (R) 32 |

d) (A EA R, dfehd (R) ¥4 7 |

NIHLT (A) : FILTH T I3 Teh UHET TOTEH 2 | 1
I (R) : foreta o aTsq e H st o ShHoT Uik o1 399 BT 2 |

AR (A) : FA -1 SAFRATT T ATt o fo afaqeft gt 2 |
R (R) : STATE o HROT FARIS (A § C-CJ A6 T Ffeh fgaer 7o1 377 971d & |

o

ARHUT (A) : IYA-3T9E 6 Figdl T T DTeAhdl gedl 2 | 1
SR (R) : TR S W Ufd gh18 SR § feraem of ST a1el 3T shl & o
ST R |

ARHUT (A) : FshHT U1 I FHUH et I Bt B | 1
HRO (R) : ToRAT 91T H ST Soragi ol (e T % HRU G dTfcoh
JELF BT 2 |
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13. The formula of the complex dichloridobis (ethane —1, 2-diamine) platinum

(IV) nitrate is 1
(a) [Pt Cly(en), (NO,),] (b) [Pt Cly(en),] (NO,),
(c) [Pt Cly(en), (NO,)INO, (d) [Pt (en), (NO,),]CI,

14. Which one among the following metals of 3d series has the lowest melting

point ? 1
(a) Fe (b) Mn
(¢) Zn (d) Cu

Given below are two statements labelled as Assertion (A) and Reason (R).

Select the most appropriate answer from the options given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(¢) (A) 1s true, but (R) is false.

(d) (A) 1s false, but (R) is true.

15. Assertion (A) : Elevation in boiling point is a colligative property. 1

Reason (R) : The lowering of vapour pressure of solution causes elevation
in boiling point.

16. Assertion (A) : Chlorobenzene is resistant to electrophilic substitution
reaction. 1

Reason (R) : C-C/ bond in chlorobenzene acquires partial double bond
characters due to resonance.

17. Assertion (A) : Conductivity decreases with decrease in concentration of
electrolyte. 1

Reason (R) : Number of ions per unit volume that carry the current in a
solution decreases on dilution.

18. Assertion (A) : Transition metals have high enthalpy of atomisation. 1

Reason (R) : Greater number of unpaired electrons in transition metals
results in weak metallic bonding.

56/2/2 {9 > P.T.O.



19.

20.

21.

22.

23.

24.

Qg -
() R ST 2x1
() TR T 3T EqUl kel arafr & fRR fawe eH AT R |
(i) Igd-TEH ATeTehed o TS fuior 7 fey amr (DC) w3y T8 6t St

2|
FroET
(b) T 3CTEVT Afed 36 e i gienfya Hife | wrafies 3tk g=maes Sefe 6t gorm
HE A h R AW E ? 2

25 °C R 3G 59 X 3 g 59 Y & 9157 ¢& HA: 120 mm Hg 37 160 mm Hg £ |
Ife X 3R Y & 9 HicAl ol et T 2A1eet foretae = Srat &, a1 foetas =1 amsa
T IiehicTd HIfT | 2

(a) Tr=ferfaa < 31ms 3 ff u et 9w foiRew . 2x1
(i) [Co(NH,).(ONO)JZ*
(i) K,[NiCl,]
I
(b) () hicie HFA T2 ? Toh IETET QT |
(i) BAEH Teped o1 & ? Teb IR AT | 2x1

(a) 31 AT B Y ®U=Rol fgedta Sife i sertfaehl o e gar & | afe A 6t @igar
o T SR € ST At B <k fmien E1H o S 9T o ST g 2 2x1
(b) T ICTELT Gled SeH YW hife 3rhfspa ht uftums farRaw |

(a) —IfFarsniaTse MR faasierss § w1 3T g ? 2x1
(b) UH Jord DNA o ITed fFASIISS T STet — 31T Shi T 1 Ieurg e &l 2
Treafafaa & aftrfaa gamfaes g fafgu . 2x1
(a) hics SAfufepa

(b) faferrmm gyemo
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SECTION - B

19. (a) Give reasons : 2x1
(1) Mercury cell delivers a constant potential during its life time.

(i1) In the experimental determination of electrolytic conductance,
Direct Current (DC) is not used.

OR

(b) Define fuel cell with an example. What advantages do the fuel cells
have over primary and secondary batteries ? 2

20. The vapour pressure of pure liquid X and pure liquid Y at 25 °C are 120
mm Hg and 160 mm Hg respectively. If equal moles of X and Y are mixed
to form an ideal solution, calculate the vapour pressure of the solution. 2

21. (a) Write the IUPAC names of the following : 2x1
()  [Co(NH,),(ONO)|2*
(i) K,[NiCl,]
OR

(b) (1) Whatis a chelate complex ? Give one example.

(i1)) What are heteroleptic complexes ? Give one example. 2x1

22. (a) The conversion of molecule A to B followed second order kinetics. If
concentration of A increased to three times, how will it affect the rate
of formation of B ? 2x1

(b) Define Pseudo first order reaction with an example.

23. (a) What is the difference between a nucleoside and nucleotide ? 2x1

(b) What products would be formed when a nucleotide from DNA
containing thymine is hydrolysed ?

24. Write the chemical equation involved in the following : 2x1
(a) Kolbe’s reaction

(b) Williamson synthesis

56/2/2 {1 > P.T.O.



25. Ta=faRad s 31fererdd e =/on | i 2x1

() CH,CN#® CH,— (”3 ~ CH,

0]
(b) °
Qug — T
26. (a) [Co(en),Cl,]** = ST TSRS G | [Co(en),Cly] %+ =T iH |1 AT
THTES YavT 0Tk el g 3 i 2 2+1

(b)  [CoF ]3> =1 Hehtul Udl Yrafehid sHaER fAfaT |
[fe=m 2 & Co =T TRHTY] ShHTh = 27]

27. F — CH, — COOH (HIeR g&5HM = 78 g mol~!) % 19.5 g ! 500 g Se1 H €It W
fete # 1°C %1 3te#4 q@1 ™1 | F — CH, — COOH % foTu foritsm-#mn uftssfora
HIfT |
[fea & - 571 & fo7w K, = 1.86 K kg mol-1]. 3

28. TrefaRad 4 | fopeal i o I I : 3x1
(a) CzH,, 1 S &1 GHIEE Isocl TS bl WHT H Tehed HHIFAR Alfeh C H, Cl
e ?
(b) Tr=fafed RfEs w1 Sy 2 AR % wld o g3 JATRARiear % % |
AT HI :
2SI, 1-SHIU=H, 2-5HI-2-Hieeged
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25. Do the following conversions in not more than two steps : 2x1

(a) CH4CN to CH4 — (Hj — CH,
0

(b)

SECTION - C

26. (a) Draw the geometrical isomers of [Co(en)ZClz]2+. Which geometrical

1somer of [Co(en)zCl2]2+ 1s not optically active and why ? 2+1
(b) Write the hybridisation and magnetic behaviour of [CoF]?~.

[Given : Atomic number of Co = 27]

27. When 19.5 g of F — CH, — COOH (Molar mass =78 g mol 1), is dissolved in

500 g of water, the depression in freezing point is observed to be 1°C.
Calculate the degree of dissociation of F — CH, — COOH.

[Given : K, for water = 1.86 K kg mol™!] 3

28. Answer any 3 of the following : 3x1

(a) Which isomer of C H,, gives a single monochloro compound C,HyCl

in bright sunlight ?

(b) Arrange the following compounds in increasing order of reactivity

towards SN2 reaction :

2-Bromopentane, 1-Bromopentane, 2-Bromo-2-methylbutane

56/2/2 {13 > P.T.O.



(c) ITTAT- qAT HT-TUTEITST Shl ITUETT U -STEoA IS bl TTeTTeh 3= Il BT & ?
(d) Tr=faRga® A 3 B & ug= i :

Mg Hy0

}?IGF_%;QH>A > B

29. TH Yo Hife ht Ik & 50% ot 84 7 300 K W 30 e &ra 8 37k 320 K™
10 fore @ma € | tfaferan 3 fore wfmmr et (B,) wfenfea $ifm |

[R = 8.314 JK~1mol] 3

[fean 2 : log 2 = 0.3010, log 3 = 0.4771, log 4 = 0.6021]

30. (a) () Tm=faRaa srfifmean S srifafy fafae 2+1

+
2CH,CH,OH % CH, - CH, - O — CH, — CH, + H,0

(i) o SATAT-ATEIRHIA WTT RT SIS BIdT & STefeh Y-S Tal ?
e
(b) T EITR A 3x1
() U H CH,CU/AS AlCT, % @ sifufsran i St @ ¢
(ii) TS T Na,Cr,0,/H" gry siferfietor foha smar 2 7
(ili) (CHy); C — OH %1573 K T Cu % H1¥ A fohart Sar 2 ?

30 I o T § qErEfes geten fafau |
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(¢c) Why p-dichlorobenzene has higher melting point than those of ortho-
and meta-isomers ?

(d) Identify A and B in the following :
Mg Hy0

> A > B
Dry ether

29. A first order reaction is 50% complete in 30 minutes at 300 K and in

10 minutes at 320 K. Calculate activation energy (E,) for the reaction.
[R=28.314 J K1 mol] 3

[Given : log 2 = 0.3010, log 3 =0.4771, log 4 = 0.6021]

30. (a) (1) Write the mechanism of the following reaction : 2+1
H+
2CH,CH,OH VST O CH; - CH,-0-CH,-CH;+ H,0

(i1)) Why ortho-nitrophenol is steam volatile while para-nitrophenol is

not ?
OR
(b) What happens when
(i) Anisole is treated with CH4Cl/anhydrous AICl, ? 3x1

(ii) Phenol is oxidised with Na,Cr,0-/H" ?
(iii) (CHgy)3 C— OH is heated with Cu/573 K ?

Write chemical equation in support of your answer.

56/2/2 {15 > P.T.O.



TwE -|
freferfiad wem, o i s 8 | 3gese S aeurgEs gfer 3 fou T e
I T

31. HETEREYE, YU Uik Ucease 3R HEH B & | 3% Jhss ot Fad & | 3 wf
HTEIEIESE! ! AN B et qum om iyt 1 sufad wt ed &, ra=rh s
hEd & | TR, SN foh AL o foTu el o1 W@ €1 &, WId o SAsTIee o Jed
BT 8 | T9eifim S1er § sravas Teme WIsasie & | WA oV 37l & 95eTh @
3R e § i grarTere va mfos franati w1 arfed s 2 | foerfiei 1 st 3
3FTehi T &1 A1 & |

TR o I ST :

(a) TR I UEIUEICE, BISGIRICUHH o &1 AR &1 il g | I8 o1 3R

Hr g ? 1
(b) Tererfim C =1 gaR e A wivra w121 foma ST wehan 2 2 1
(c) WIIHI ¥ gafda fforfaa shi uftam ferfae

(i) U<EE Y

(i) ferehefrehtor 2x1

JraT
() hreiErgeel & Feiferd freferfaa it uftum fafa
(i) T
() TAEHISH qY 2x1
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SECTION -D

The following questions are case based questions. Read the passage

carefully and answer the questions that follow :

31. Carbohydrates are optically active polyhydroxy aldehydes and ketones.

They are also called saccharides. All those carbohydrates which reduce

Fehling’s solution and Tollen’s reagent are referred to as reducing sugars.

Glucose, the most important source of energy for mammals, is obtained by

the hydrolysis of starch. Vitamins are accessory food factors required in

the diet. Proteins are the polymers of a-amino acids and perform various

structural and dynamic functions in the organisms. Deficiency of vitamins

leads to many diseases.

Answer the following :

(a)

(b)
(c)

(c)

56/2/2

The penta-acetate of glucose does not react with Hydroxylamine.

What does it indicate ?

Why cannot vitamin C be stored in our body ?
Define the following as related to proteins :
(1) Peptide linkage

(11) Denaturation

OR

Define the following as related to carbohydrates :

(1) Anomers

(1) Glycosidic linkage

<>

2x1

2x1

P.T.O.



32. HTeH I YT RS hl fereId—oTTeThdl 3= B & HRT HreH-HATedsH g
JmEy Tfeggigel 3R HeHl § giad & S 7 | 37d: 9 3 AeRuiEl S HCN,
NaHSO,, Tewiaiel, it o= 3R f=m sifieptent & @ e aems
TSRS gd & | HIHT 1 ruen Ufeserss 7y sledtnto it gru @l |
JATeEiehd &1 A & | HreiaareTsh 3T %1 hlE-A T8 Ufceargsi 3 HeHl
HATeRATE T oefl & | shrsilferdoTeh 310 Ueehlgiell sl JAferehat 31fd el Wiletl & shihl
31fereh TefiF B & |
frfarfiaa st & s &

(a) 9 TH Tfeearss Y5 HCI i IufRafa § Veshlalic o TR & &1y Afafshan
T 7 at Fffa 3earg =6 am fafe | 1
(b) RIS <t G H HISiraTcTh T TTeh Teet 310 Il BT & ? 1
© () T=fafea Afiesi w1 CH MgBr % ¥fd 37! stfufsramsficrar & sgd #u 1
Saferd Hifere :

CH,CHO, (CHy),C - €~ CHy, CH, - C - CH,
0 0

(i) U 3R IUAE § fordie s o fote vamrtes wdier fefa | 2x1
YT

(c) Tr=ferRaa # g 3cume ferfem

[Ag(NH,),]*
@ vol |

H,NCONHNH,
@i1) > 2x1

56/2/2




32. The carbon — oxygen double bond is polarised in aldehydes and ketones
due to higher electronegativity of oxygen relative to carbon. Therefore
they undergo nucleophilic addition reactions with a number of

nucleophiles such as HCN, NaHSO,, alcohols, ammonia derivatives and

Grignard reagents. Aldehydes are easily oxidised by mild oxidising agents
as compared to ketones. The carbonyl group of carboxylic acid does not
give reactions of aldehydes and ketones. Carboxylic acids are considerably

more acidic than alcohols and most of simple phenols.
Answer the following :

(a) Write the name of the product when an aldehyde reacts with excess

alcohol in presence of dry HCI. 1
(b) Why carboxylic acid is a stronger acid than phenol ? 1

(¢) (1) Arrange the following compounds in increasing order of their

reactivity towards CH;MgBr :

CH,CHO, (CH,),C — C — CH,, CH, — C — CH,
|| [
0 0

(11) Write a chemical test to distinguish between propanal and

propanone. 2x1
OR
(¢) Write the main product in the following :

[Ag(NH;),]"
@ ¥ |

H,NCONHNH,
(ii) > 2x1

56/2/2 P.T.O.



33. (a)

(b)

34. (a)

(b)

56/2/2

Qs -

2 x 10-3 M HHTgh 3777 hl TTeAshdl 8 x 1075 S em~! 2 | Ife AATSH 377
%QASIETTIFULOZLScmzmol_lé?ﬁsﬂiﬁﬁlﬂ(w@ﬁw—w
giesferd HifST | 3+2

298 K W &l g3 AR o foTe A G° 3R log K, Uitehferd =hIfT -

. + N3 2+
Nl(s) + 2Ag (@) ==Ni1 @ T 2Ag(S)

fe 2 : Boyzey, =—0.25 V, EQ 1)y, = +0.80 V

1F =

@

uy

@

uy

96500 C mol .

frafafaa = sro & 3+2

(i) Mn3*/ Mn2* g9 & fau Ee &1 79 Cr3t/ Cr2* & oM € s5q 3114
YTcHS BT 2 |

(i) STefr foem o Sc3* TTEH & Safs Tidt 9 8 |
(iii) fFerag Stfadienor Sraeenai i foegd e Tefid #d & |
MnO, ¥ KMnO,, = for= o fofu Tramafies wfietor fetfa |
ey
frafafaa & sro fafeu 2+2+1
(i)  EEHAYT UTU frsmy ST 2 |
(i) Ce*" Teh Yool eI ¢ |
AT 3TN AfFeATagt o WA H Tsh T 3R Teh 3T ferfn |

(I11) fr=ferfaa smafren et =i qut i :

Cr,07 + 20H —



33. (a)
(b)

34. (a)
(b)

56/2/2

SECTION - E

Conductivity of 2 x 102 M methanoic acid is 8 x 10® S cm™L.

Calculate its molar conductivity and degree of dissociation if /\r?1 for

methanoic acid is 404 S cmZmol-1L. 3+2

Calculate the A G° and log K_ for the given reaction at 298 K :

: + R\
Nl(s) + 2Ag (@) N1 @q) + 2Ag(S)

Given : EONi2+/Ni =—-0.25V, Ezg+/Ag =+0.80 V

1F =

@

uy

@

uy

(ITT)

96500 C mol .

Account for the following : 3+2

(i) E°value for Mn®*/ Mn2* couple is much more positive than
that for Cr3*/ Cr2.

(il) Sc3* is colourless whereas Ti?' is coloured in an aqueous
solution.

(111) Actinoids show wide range of oxidation states.
Write the chemical equations for the preparation of KMnO,
from MnO,,.

OR
Account for the following : 2+2+1
(1) Transition metals form alloys.
(i) Ce*'is a strong oxidising agent.

Write one similarity and one difference between chemistry of
Lanthanoids and Actinoids.

Complete the following ionic equation :

Cr,07 + 20H —

<D P.T.O.



35. (a) () rude: 3+2
() I v gy ot gfaeum sifufrenan ® sme wd du
frceres gran & TRt oft el Arediemar gro 99w w1 # Hemrge el
iz

(i) ST faeme  #§ (CH,),N &1 3198 (CH,), NH 31fees b 21 2 |

(iil) Ufeeret BcTgel 1 ITHIAT-319Eed g Tuifies WAt & famm & forg
=t fafa i 2

D f=faRea § aftifea siufwa fofay
(i)  ehrfeer UH Tego
(i) Tifsue Sfermrgs Hweror
e
M) () TF=faRes sfafrnatig A, B 3t C 6 @A fofaw 3+1+1

H,0/H*  NH
@) Nicr —UON LA 2T LR o

Fe/HC!I NaN02+HCl CZH5OH

(11) > A RS >B > C

A1) V= hree-shraea srfufsran s 78 <t 3 2
(1) F=ferRaa =t 3 FaeMThI & ded shil | SAafRd $HIfT ;

C,H.OH, C,H.NH,, (C,H,),N

56/2/2 @



35. (a)

(b)
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@

uy

@

uy

Give reasons : 3+2

(1) Aniline on nitration gives good amount of m-nitroaniline,
though — NH, group is o/p directing in electrophilic
substitution reactions.

(1) (CH,), NH 1s more basic than (CHy)3N in an aqueous
solution.

(111) Ammonolysis of alkyl halides is not a good method to
prepare pure primary amines.

Write the reaction involved in the following :
(1) Carbyl amine test
(11) Gabriel phthalimide synthesis

OR

Write the structures of A, B and C in the following reactions :3 +1 + 1

H,0/H*  NH
@) SV LA W SNy
A
NaNO,+HC! C,H,0H
(i) Fe/HCI ;A 2 . B 2115 . C
273 K

Why aniline does not undergo Friedal-Crafts reaction ?

(IIT) Arrange the following in increasing order of their boiling point :

C,H.OH, C,H.NH,, (C,H,),N
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